
Tilt Wall Mount

INSTALLATION MANUAL

70" 
MAX

75kg
(165lbs)

RATED

200x200/300x300
400x200/400x400
600x400

P/N 10483

PLB-43S



43

2a

TV

TVTV

TVTV

2b

TV

1b

1a

ø 4.5mm
(ø 3/16") 

55mm

2.2( )

55mm

(2.2 )"

1 3

X X√

60mm

2.4"( )

60mm

(2.4")

ø 10mm
(ø 3 /8")  

W-C (x6)W-B (x6)W-A (x6)

A (x1)

B (x1)

2

X X√

M-F

M-H

M-D/M-E

M-F

M-G

M-C/M-D/M-E

M-F

M-A/M-B/M-C

C (x1)

M-F

M-G

M-C

M-F

M-H

M-D/M-E

M-G

M-G

W-A
W-C

W-B

 
    0°

-10°

          

M6x14 
M-B

(x4)

M-F (x4) 

M8x20 
M-C

(x4)

M-H (x4) 

M6x30 
M-D

(x4)

M-G (x8) 

M5x14 
M-A

(x4)

M8x30 
M-E

(x4)

E (x5) F (x1) G (x1)D (x1)

FD X

W-A
W-C

FD

1

2


